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Day ! The Laws of Exponents

Warm It Up!
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24 = l@ HOLD UP! Do you know the difference?!?! \
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Expression to be Simplified Work it Out! End Result
(4 (-4Y-4) - (-4Y-4Y-4) (-1)°
%% - k° (- H) - (Fe- A o) A
(a) - (A (AAD DDA DY (A D) AT
x° - x° (X-X-X-X-X ) (K-X-X) Xg
X " > |RULE ) ™"
CHECKPOINT! Does this rule work for 5° - 4°? Explain. )0 l n6604 cCoMmM oON BASES
5#%
QRULE 2
E’;psri‘:;s;‘;’fll;g Work it Out! End Result
(72)° 72.7*.7°=7-77-7-7-7 76
@44 4G4 4 (A4 4D @ 42
(s1)° 5%.5%.5%.5% .5 =5.5.5.505.5.5.5 ¢5.5.5.5 ¢5.5.5.5 ¢ 5.5.5.5 520
(m?)® YR vl Vil | VI Vel | 7 [0 (20 1V AV (700 1 Y LR TR 0 TT'°
(453)3 §30 83083 = §8S 0§88 0§88 £
(x") . RULE x """

CHECKPOINT! Does this rule for (3%)° ? Explain. If so, what do you get as the end result? ”@Q\ 3 10



% RULE 3

Expression to be Simplified Work it Out! End Result
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CHECKPOINT! Does this rule for (2-13)?? Explain. If so, what do you get as the end result? ”65‘ 23 . l3’3
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Negative #’s rule:

*Let’s Summarize Together!!*
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